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QUESTION 1

What should you configure if you want to translate private source IP address to a single public IP address? 

A. Source NAT 

B. Destination NAT 

C. Content filtering 

D. Security Director 

Correct Answer: A 

 

QUESTION 2

Which statement is correct about IKE? 

A. IKE phase 1 is used to establish the data path 

B. IKE phase 1 only support aggressive mode. 

C. IKE phase 1 negotiates a secure channel between gateways. 

D. IKE phase 1 establishes the tunnel between devices 

Correct Answer: C 

 

QUESTION 3

Referring to the exhibit. 
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Which type of NAT is being performed? 

A. Source NAT with PAT 

B. Source NAT without PAT 

C. Destination NAT without PAT 

D. Destination NAT with PAT 

Correct Answer: A 

 

QUESTION 4

You want to automatically generate the encryption and authentication keys during IPsec VPN 

establishment. 

What would be used to accomplish this task? 

A. IPsec 

B. Diffie_Hellman 
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C. Main mode 

D. Aggregate mode 

Correct Answer: B 

 

QUESTION 5

You want to generate reports from the l-Web on an SRX Series device. Which logging mode would you use in this
scenario? 

A. Syslog 

B. Stream 

C. Event 

D. local 

Correct Answer: B 

 

QUESTION 6

Users on the network are restricted from accessing Facebook, however, a recent examination of the logs 

show that users are accessing Facebook. 

Referring to the exhibit, 

Why is this problem happening? 
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A. Global rules are honored before zone-based rules. 

B. The internet-Access rule has a higher precedence value 

C. The internet-Access rule is listed first 

D. Zone-based rules are honored before global rules 

Correct Answer: D 

 

QUESTION 7

What are two characteristic of static NAT SRX Series devices? (Choose two.) 

A. Source and destination NAT rules take precedence over static NAT rules. 

B. A reverse mapping rule is automatically created for the source translation. 

C. Static NAT rule take precedence over source and destination NAT rules. 

D. Static rules cannot coexist with destination NAT rules on the same SRX Series device configuration. 

Correct Answer: BC 

 

QUESTION 8

What is a type of security feed that Sky ATP provides to a vSRX series device by default? 

A. CandC feeds 

B. Malware feeds 

C. RSS feeds 

D. ACL feeds 

Correct Answer: A 

 

QUESTION 9

What is the correct order of processing when configuring NAT rules and security policies? 

A. Policy lookup > source NAT > static NAT > destination NAT 

B. Source NAT > static NAT > destination NAT > policy lookup 

C. Static NAT > destination NAT> policy lookup > source NAT 

D. Destination NAT > policy lookup > source NAT > static NAT 

Correct Answer: C 
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QUESTION 10

Which statements about NAT are correct? (Choose two.) 

A. When multiple NAT rules have overlapping match conditions, the rule listed first is chosen. 

B. Source NAT translates the source port and destination IP address. 

C. Source NAT translates the source IP address of packet. 

D. When multiple NAT rules have overlapping match conditions, the most specific rule is chosen. 

Correct Answer: AC 

 

QUESTION 11

The free licensing model for Sky ATP includes which features? (Choose two.) 

A. C and C feeds 

B. Infected host blocking 

C. Executable file inspection 

D. Compromised endpoint dashboard 

Correct Answer: BC 

 

QUESTION 12

Which three actions would be performed on traffic traversing an IPsec VPAN? (Choose three.) 

A. Port forwarding 

B. Authentication 

C. Encryption 

D. Deep inspection 

E. Payload verification 

Correct Answer: BCE 

 

QUESTION 13

Which two statements about security policy processing on SRX series devices are true? (choose two) 

A. Zone-Based security policies are processed before global policies. 
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B. Traffic matching a global policy cannot be processed against a firewall filter 

C. Zone-Based security policies are processed after global policies 

D. Traffic matching a zone-based policy is not processed against global polices. 

Correct Answer: AC 

 

QUESTION 14

Which two statements are true about security policy actions? (Choose two.) 

A. The reject action drops the traffic and sends a message to the source device. 

B. The deny action silently drop the traffic. 

C. The deny action drops the traffic and sends a message to the source device. 

D. The reject action silently drops the traffic. 

Correct Answer: AB 

 

QUESTION 15

Which two private cloud solution support vSRX devices? (Choose two.) 

A. Microsoft Azure 

B. Amazon Web Services (AWS) 

C. VMware Web Services (AWS) 

D. VMware NSX 

E. Contrail Cloud 

Correct Answer: AB 
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